Council Tax Charges 2018/19

B&NES Council Tax Rates 2018/19 with Parish, Police and Fire Precept

Parish	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Bath	£1,078.70	£1,258.47	£1,438.26	£1,618.05	£1,977.63	£2,337.19	£2,696.75	£3,236.10
Bathampton	£1,096.49	£1,279.22	£1,461.98	£1,644.73	£2,010.24	£2,375.73	£2,741.22	£3,289.46
Batheaston	£1,102.36	£1,286.07	£1,469.81	£1,653.54	£2,021.01	£2,388.46	£2,755.90	£3,307.08
Bathford	£1,092.54	£1,274.61	£1,456.71	£1,638.80	£2,002.99	£2,367.16	£2,731.34	£3,277.60
Cameley	£1,105.08	£1,289.25	£1,473.44	£1,657.62	£2,025.99	£2,394.35	£2,762.70	£3,315.24
Camerton	£1,118.90	£1,305.36	£1,491.86	£1,678.34	£2,051.32	£2,424.28	£2,797.24	£3,356.68
Charlcombe	£1,084.86	£1,265.66	£1,446.48	£1,627.29	£1,988.92	£2,350.54	£2,712.15	£3,254.58
Chelwood	£1,079.73	£1,259.67	£1,439.63	£1,619.59	£1,979.51	£2,339.42	£2,699.32	£3,239.18
Chew Magna	£1,102.28	£1,285.98	£1,469.70	£1,653.42	£2,020.86	£2,388.28	£2,755.70	£3,306.84
Chew Stoke	£1,096.84	£1,279.62	£1,462.44	£1,645.25	£2,010.88	£2,376.48	£2,742.09	£3,290.50
Claverton	£1,104.32	£1,288.36	£1,472.42	£1,656.48	£2,024.60	£2,392.70	£2,760.80	£3,312.96
Clutton	£1,125.12	£1,312.62	£1,500.15	£1,687.67	£2,062.72	£2,437.75	£2,812.79	£3,375.34
Combe Hay	£1,139.78	£1,329.72	£1,519.70	£1,709.66	£2,089.60	£2,469.52	£2,849.44	£3,419.32
Compton								
Dando	£1,098.81	£1,281.93	£1,465.07	£1,648.21	£2,014.49	£2,380.76	£2,747.02	£3,296.42
Compton								
Martin	£1,124.62	*	£1,499.48	£1,686.92	£2,061.81	£2,436.67	£2,811.54	
Corston	£1,105.04	£1,289.20	£1,473.38	£1,657.56	£2,025.92	£2,394.26	£2,762.60	£3,315.12
Dunkerton &	04 000 40	04 004 47	04 404 55	04 047 00	00 040 77	00 070 00	00 740 04	00 005 04
Tunley	£1,098.42	£1,281.47	£1,464.55	£1,647.62	£2,013.77	£2,379.90	£2,746.04	
East Harptree	£1,097.58	£1,280.49	£1,463.43	£1,646.36	£2,012.23	£2,378.08	£2,743.94	£3,292.72
Englishcombe	£1,108.08	£1,292.75	£1,477.44	£1,662.12	£2,031.49	£2,400.85	£2,770.20	£3,324.24
Farmborough	£1,100.00	£1,283.31	£1,466.66	£1,649.99	£2,016.67	£2,383.33	£2,749.99	£3,299.98
Farrington								
Gurney	£1,098.78	•	£1,465.04	£1,648.17	£2,014.44		£2,746.95	£3,296.34
Freshford	£1,133.48	£1,322.38	£1,511.30	£1,700.22	£2,078.06	£2,455.88	£2,833.70	£3,400.44

High Littleton	£1,098.40	£1,281.44	£1,464.52	£1,647.59	£2,013.74	£2,379.86	£2,745.99	£3,295.18
Hinton		-		-			-	-
Blewett	£1,117.29	£1,303.49	£1,489.71	£1,675.93	£2,048.37	£2,420.80	£2,793.22	£3,351.86
Hinton		-					-	-
Charterhouse	£1,113.36	£1,298.91	£1,484.48	£1,670.04	£2,041.17	£2,412.29	£2,783.40	£3,340.08
Kelston	£1,088.50	£1,269.90	£1,451.33	£1,632.75	£1,995.60	£2,358.43	£2,721.25	£3,265.50
Keynsham	£1,135.04	£1,324.19	£1,513.38	£1,702.55	£2,080.91	£2,459.25	£2,837.59	£3,405.10
Marksbury	£1,099.23	£1,282.42	£1,465.63	£1,648.84	£2,015.26	£2,381.67	£2,748.07	£3,297.68
Midsomer								
Norton	£1,136.56	£1,325.97	£1,515.41	£1,704.84	£2,083.71	£2,462.56	£2,841.40	£3,409.68
Monkton								
Combe	£1,103.65	£1,287.57	£1,471.53	£1,655.47	£2,023.37	£2,391.24	£2,759.12	£3,310.94
Nempnett								
Thrubwell	£1,096.59	£1,279.34	£1,462.11	£1,644.88	£2,010.42	£2,375.95	£2,741.47	£3,289.76
Newton St.	04 400 40	04 000 04	04 = 44 00	04 =00 40		00 455 55		00 400 00
Loe	£1,133.42	£1,322.31	£1,511.22	£1,700.13	£2,077.95	£2,455.75	£2,833.55	£3,400.26
North Stoke	£1,075.37	£1,254.58	£1,433.82	£1,613.05	£1,971.52	£2,329.97	£2,688.42	£3,226.10
Norton	04 000 50	04 000 ==	04 400 00	04 040 07	00 04 = =0		00 = 10 = 0	00 000 = 4
Malreward	£1,099.52	£1,282.75	£1,466.02	£1,649.27	£2,015.79	£2,382.29	£2,748.79	£3,298.54
Paulton	£1,148.04	£1,339.37	£1,530.72	£1,722.06	£2,104.75	£2,487.43	£2,870.10	£3,444.12
Peasedown								
St. John	£1,130.17	£1,318.51	£1,506.89	£1,695.25	£2,071.99	£2,448.70	£2,825.42	£3,390.50
Priston	£1,108.52	£1,293.26	£1,478.02	£1,662.78	£2,032.30	£2,401.80	£2,771.30	£3,325.56
Publow &								
Pensford	£1,094.42	£1,276.80	£1,459.22	£1,641.62	£2,006.44	£2,371.24	£2,736.04	£3,283.24
Radstock	£1,178.03	£1,374.35	£1,570.70	£1,767.04	£2,159.73	£2,552.40	£2,945.07	£3,534.08
St. Catherine	£1,087.76	£1,269.04	£1,450.34	£1,631.64	£1,994.24	£2,356.82	£2,719.40	£3,263.28
Saltford	£1,087.58	£1,268.83	£1,450.10	£1,631.37	£1,993.91	£2,356.43	£2,718.95	£3,262.74
Shoscombe	£1,114.67	£1,300.43	£1,486.22	£1,672.00	£2,043.57	£2,415.12	£2,786.67	£3,344.00
South Stoke	£1,103.61	£1,287.53	£1,471.47	£1,655.41	£2,023.29	£2,391.16	£2,759.02	£3,310.82
Stanton Drew	£1,106.92	£1,291.38	£1,475.88	£1,660.37	£2,029.36	£2,398.32	£2,767.29	£3,320.74
Stowey	£1,094.56	£1,276.96	£1,459.40	£1,641.83	£2,006.70	£2,371.54	£2,736.39	£3,283.66

Sutton								
Swainswick	£1,090.65	£1,272.41	£1,454.19	£1,635.97	£1,999.53	£2,363.08	£2,726.62	£3,271.94
Timsbury	£1,112.52	£1,297.93	£1,483.36	£1,668.78	£2,039.63	£2,410.47	£2,781.30	£3,337.56
Ubley	£1,120.34	£1,307.05	£1,493.78	£1,680.51	£2,053.97	£2,427.41	£2,800.85	£3,361.02
Wellow	£1,111.22	£1,296.41	£1,481.62	£1,666.83	£2,037.25	£2,407.65	£2,778.05	£3,333.66
West								
Harptree	£1,101.66	£1,285.26	£1,468.88	£1,652.49	£2,019.72	£2,386.94	£2,754.15	£3,304.98
Westfield	£1,142.11	£1,332.44	£1,522.81	£1,713.16	£2,093.88	£2,474.57	£2,855.27	£3,426.32
Whitchurch	£1,114.10	£1,299.76	£1,485.46	£1,671.14	£2,042.52	£2,413.88	£2,785.24	£3,342.28

Figures shown are for at least a 2 adult household with no discounts

Average Band D Council Tax 2018/19

On average (for a Band D, 2 adult household) the Council Tax for 2018/19 will be as follows:

Reference		£ Band D	% Increase on
Band D		2018/19	2017/18
2017/18 £			
1,235.48	Bath and North East Somerset Council*	1,260.52	1.95*
48.85	- Adult Social Care (ASC)*	87.37	3.00*
1,284.33	Sub Total B&NES (Including ASC)	1,347.89	4.95
37.56	Average Parish Precept	39.01	3.86
69.28	Avon Fire Authority	71.35	2.99
181.81	Avon and Somerset Police	193.81	6.60
1,572.98	Total Tax Charged	1,652.06	5.03

[Overall annual increase in average Band D Council Tax is £79.08]

Valuation Bands for Precepting Organisations

Bath & North East Somerset Council only

Valuation Bands

Α	В	С	D	Е	F	G	Н
£898.59	£1,048.35	£1,198.12	£1,347.89	£1,647.43	£1,946.96	£2,246.48	£2,695.78

Avon & Somerset Police Authority

Valuation Bands

Α	В	С	D	Е	F	G	Н
£129.21	£150.74	£172.28	£193.81	£236.88	£279.95	£323.02	£387.62

Avon Fire Authority

Valuation Bands

Α	В	С	D	Е	F	G	Н
£47.57	£55.49	£63.42	£71.35	£87.21	£103.06	£118.92	£142.70

^{*} The percentage figures represent the number of percentage points which increases for the Adult Social Care precept and the B&NES general expenditure charge each contribute to the overall increase set by the Council in 2018/19.

Charter Trust / Parish Council Tax Rates 2018/19

Parish/Charter Trust/Town	Precept £	Tax base	Band D £
Council			
Bath	£155,498	31,099.45	£5.00
Bathampton	£23,000	725.95	£31.68
Batheaston	£45,000	1,111.47	£40.49
Bathford	£20,462	794.52	£25.75
Cameley	£20,800	466.67	£44.57
Camerton	£16,409	251.33	£65.29
Charlcombe	£3,000	210.74	£14.24
Chelwood	£400	61.12	£6.54
Chew Magna	£25,280	626.14	£40.37
Chew Stoke	£14,890	462.49	£32.20
Claverton	£2,970	68.39	£43.43
Clutton	£42,018	563.09	£74.62
Combe Hay	£8,860	91.71	£96.61
Compton Dando	£10,000	284.40	£35.16
Compton Martin	£17,900	242.33	£73.87
Corston	£8,600	193.20	
Dunkerton & Tunley	£7,868	227.57	£34.57
East Harptree	£10,250	307.70	£33.31
Englishcombe	£6,566	133.80	£49.07
Farmborough	£17,500	473.71	£36.94
Farrington Gurney	£11,500	327.48	£35.12
Freshford	£25,890	297.01	£87.17
High Littleton	£28,000	810.70	£34.54
Hinton Blewett	£8,575	136.38	£62.88
Hinton Charterhouse	£13,642	239.38	£56.99
Kelston	£1,700	86.30	£19.70
Keynsham	£529,222	5,913.09	£89.50
Marksbury	£6,525	182.29	£35.79
Midsomer Norton	£352,703	3,842.50	£91.79
Monkton Combe	£7,268	171.34	£42.42
Nempnett Thrubwell	£3,000	94.25	£31.83
Newton St. Loe	£6,000	68.90	£87.08
North Stoke	-	47.31	£0.00
Norton Malreward	£4,000	110.44	£36.22
Paulton	£210,807	1,933.86	£109.01
Peasedown St. John	£174,845	2,127.07	£82.20
Priston	£6,200	124.67	£49.73
Publow & Pensford	£13,780	482.29	£28.57
Radstock	£259,108	1,682.68	£153.99
St. Catherine	£750	40.34	£18.59
Saltford	£32,861	1,793.89	£18.32
Shoscombe	£9,926	168.37	£58.95
South Stoke	£9,858	232.72	£42.36
Stanton Drew	£15,380	325.03	£47.32

Parish/Charter Trust/Town	Precept £	Tax base	Band D £
Council	-		
Stowey Sutton	£19,340	671.97	£28.78
Swainswick	£3,000	130.87	£22.92
Timsbury	£51,000	915.16	£55.73
Ubley	£12,000	177.88	£67.46
Wellow	£13,025	242.20	£53.78
West Harptree	£8,000	202.84	£39.44
Westfield	£184,000	1,838.03	£100.11
Whitchurch	£31,000	533.62	£58.09
Total	£2,510,176	64,346.64	£39.01

Council Tax Rates 2018/19 %age increases by area

			%			
			Increase B&NES			
			(Including			
		%	3% Adult	%	%	%
Parish, Town Council		Increase	Social	Increase	Increase	Increase
or Charter Trust	Band D	(overall)	Care Precept)	Fire	Police	Parish
Bath	£1,618.05	5.0%	4.95%	2.99%	6.60%	-9.1%
Bathampton	£1,644.73	4.9%	4.95%	2.99%	6.60%	-0.5%
Batheaston	£1,653.54	4.9%	4.95%	2.99%	6.60%	-0.5%
Bathford	£1,638.80	5.1%	4.95%	2.99%	6.60%	7.2%
Cameley	£1,657.62	4.9%	4.95%	2.99%	6.60%	0.4%
Camerton	£1,678.34	5.8%	4.95%	2.99%	6.60%	27.7%
Charlcombe	£1,627.29	5.5%	4.95%	2.99%	6.60%	104.1%
Chelwood	£1,619.59	5.0%	4.95%	2.99%	6.60%	-1.0%
Chew Magna	£1,653.42	5.0%	4.95%	2.99%	6.60%	1.6%
Chew Stoke	£1,645.25	4.9%	4.95%	2.99%	6.60%	-1.2%
Claverton	£1,656.48	4.9%	4.95%	2.99%	6.60%	0.9%
Clutton	£1,687.67	5.3%	4.95%	2.99%	6.60%	12.1%
Combe Hay	£1,709.66	4.9%	4.95%	2.99%	6.60%	2.0%
Compton Dando	£1,648.21	5.6%	4.95%	2.99%	6.60%	40.1%
Compton Martin	£1,686.92	6.0%	4.95%	2.99%	6.60%	30.3%
Corston	£1,657.56	5.0%	4.95%	2.99%	6.60%	3.1%
Dunkerton & Tunley	£1,647.62	5.1%	4.95%	2.99%	6.60%	6.0%
East Harptree	£1,646.36	5.0%	4.95%	2.99%	6.60%	4.1%
Englishcombe	£1,662.12	5.0%	4.95%	2.99%	6.60%	1.9%
Farmborough	£1,649.99	5.3%	4.95%	2.99%	6.60%	18.7%
Farrington Gurney	£1,648.17	4.9%	4.95%	2.99%	6.60%	-0.4%
Freshford	£1,700.22	4.7%	4.95%	2.99%	6.60%	-0.7%
High Littleton	£1,647.59	5.1%	4.95%	2.99%	6.60%	6.3%
Hinton Blewett	£1,675.93	5.1%	4.95%	2.99%	6.60%	7.2%
Hinton Charterhouse	£1,670.04	4.8%	4.95%	2.99%	6.60%	-2.9%

Kelston	£1,632.75	5.1%	4.95%	2.99%	6.60%	5.9%
Keynsham	£1,702.55	5.1%	4.95%	2.99%	6.60%	5.0%
Marksbury	£1,648.84	5.2%	4.95%	2.99%	6.60%	11.0%
Midsomer Norton	£1,704.84	4.9%	4.95%	2.99%	6.60%	2.5%
Monkton Combe	£1,655.47	5.3%	4.95%	2.99%	6.60%	15.0%
Nempnett Thrubwell	£1,644.88	4.9%	4.95%	2.99%	6.60%	-2.7%
Newton St. Loe	£1,700.13	4.3%	4.95%	2.99%	6.60%	-7.3%
North Stoke	£1,613.05	5.1%	4.95%	2.99%	6.60%	0.0%
Norton Malreward	£1,649.27	4.9%	4.95%	2.99%	6.60%	-0.5%
Paulton	£1,722.06	4.7%	4.95%	2.99%	6.60%	0.0%
Peasedown St. John	£1,695.25	4.8%	4.95%	2.99%	6.60%	0.5%
Priston	£1,662.78	4.9%	4.95%	2.99%	6.60%	0.7%
Publow	£1,641.62	5.3%	4.95%	2.99%	6.60%	19.3%
Radstock	£1,767.04	5.9%	4.95%	2.99%	6.60%	15.0%
St. Catherine	£1,631.64	5.0%	4.95%	2.99%	6.60%	1.1%
Saltford	£1,631.37	5.0%	4.95%	2.99%	6.60%	2.1%
Shoscombe	£1,672.00	5.3%	4.95%	2.99%	6.60%	11.1%
South Stoke	£1,655.41	5.5%	4.95%	2.99%	6.60%	26.8%
Stanton Drew	£1,660.37	4.7%	4.95%	2.99%	6.60%	-7.4%
Stowey Sutton	£1,641.83	5.0%	4.95%	2.99%	6.60%	1.6%
Swainswick	£1,635.97	5.0%	4.95%	2.99%	6.60%	-0.8%
Timsbury	£1,668.78	4.9%	4.95%	2.99%	6.60%	1.9%
Ubley	£1,680.51	5.8%	4.95%	2.99%	6.60%	27.0%
Wellow	£1,666.83	5.2%	4.95%	2.99%	6.60%	9.7%
West Harptree	£1,652.49	5.0%	4.95%	2.99%	6.60%	1.1%
Westfield	£1,713.16	4.8%	4.95%	2.99%	6.60%	1.4%
Whitchurch	£1,671.14	4.8%	4.95%	2.99%	6.60%	-1.1%